F @ @ 5=1:50

2482

ol

DIP ¢ 150K

v TR — i

DIP ¢ 200 x 150K=3
3 BURFAEE

DIP ¢ 150K-3
90°

DL=158. 00

& L1982 o‘
= ’ —_> FEils A TH0XT00 = C>
\\\ L EI;8B500 l- == - 83—
\ \\ \ 2 81 A
N b
' \ : |
= J5
\ b & g i
‘ \ & ) I =
\ \ \ s - _— —— — =T
o = —— - -
\ \ \ ° I = _ — B
‘ 5 _ =" T
. =
| : |
\ — | . %3
& -
. o
W R =» |
\ \\\ \ \© |
| ‘ —_— __’_F FRS A T500x700 B
S \ 5 1 :
B FEAKSR \ \ .‘
o=
\ | J
W - / / >
Ne oo O | I w | E - s %
N ~_ j N ~ — __—
A 5
\ \ N\ \W/ | \ \ ‘2%3 ko & =
N _—— y = | W
\ . H \ \ =N 5 W - > wLERAES
\ \ =2 e m I||l = e = 2
: = A
\ \ \\ \ g = - a8
‘ = — 4728 = =
' 87| > AD
_— W < 3
= L 2 = 1900 . = %
E— = S o
— | —— S 2600 z N
\ \ \\ \ — — 8 s 4'7'9A
AL T3 )
\ \ - P @300k =~ DIP$300K _
L=1575
L=1580
\ \\ \ -~
| 1l \ —
pl/] -
fe b E X S=1:50
c—cC IL 2600
. T84 LEHEHKE 5Q 1900 350 HH e LEKE
FY 34 )LEE8%E DIP @ 150K L=8906 A a4 )L eE8%E DIP$ 200K L=11192 DIIE??B%OK 3400 DIP ¢ 300K B84 )LEEkE DIP @ 150K L=9147
= L=1575
12364 3879 4728 3866 1589
7000 4127 1350,
170_750 1200 7kEFFHiE#¢150
1741 1400 A RELT
YIG 975 030 VFH:161.996 ZEH: 161,996
DIP ¢ 150K-3 7 -
W ey iz |
3400 = sy DIP ¢ 150K-3
DIP ¢ 150k-3 - DIP ¢ 150K-3 ZPIJ& L=368
o Y YUE =557 1oo 0 EE KEES100
S FAGHEPRP 150 100 gép 200K-3 vﬁ»ﬁgz‘) E -
8 - £ = ot o o 3
8 160,120 <| Ib1pg200k-3 g 3
S FOUE o DIP ¢ 150K-3
A ! ! DIP 300 200K-3 ‘ 5 2 172" DIP ¢ 150K-3
b lagK 5 dpsocs DIP 200 150K-3/ S 3 E;f;’zgof_ s P R0 mgy (=028 T
= =R Yg L=1181 E neolEs B Lol 5
‘ ‘ DIP ¢ BD0K-3 Sie = &
DIP ¢ 200K-3 DIP ¢ 200k-3/ _ DIP ¢ 200k-3 DIP ¢ 200K-3 gl = 1P ¢ 300 x 150K-3
DL=158.00 907 B ‘ ZEUE L=3200 EW%TM‘ 90" BE #55] 4 5 %3004 g g =naE
4429 ‘ o B 2008 : ‘ _ SBEARIE H-T.6n
SRS el (STWEZ) B s T
W 6400 mm % 5. 5kw x 0. 12m /sHS(;k//

HEFRET 5-1:20

I | DIP ¢ 150K-3
1

B

1055

B

¢ 780
¢ 580
#% & ¢ 230x 250 xH150
¢ 280 | AR
VitE=
g B4 11
| ms 1St

BEE V4200 L=0.35m

150, 250

avyy—=~F

18-8-40

EBEFR (RC-40)

MABW A KT KESERE

cr | skEREmEBRH G IE
#X 2 k3 ;-4
[Eai=i) © .. o =mm | 14
o RERK TRR-AE | ;
. I x
#ER 1:20,50 - 5
E=3 =3 -3 Hi
B Rt AT =
7




